Club Car DS Brush Guard -
Installation Instructions §
Black- Part# 6271 |r_*r KT Ts -
Gunmetal- Part# 7066 '
Stainless- Part# 6288

_—

Parts List

Brush Guard-1
5/16 x 1 Bolts-2
5/16 x 1 %2 Bolts-2
5/16 Flatwashers-4
5/16 Locknuts-4

Made in USA

Always wean appropriale
A eye lbwl‘écﬁm./
1. Remove the front bumper from the cart as shown in Figure 1.

no

Unbolt the front nose section of the body from the cart.

3. Using the supplied 5/16 x 1 bolts, washers, & locknuts install
the brush guard to the front stock bumper location as shown in
Figure 2. NOTE- some models may need the stock holes
slightly enlarged.

4. Using the supplied 5/16 x 1 % bolts, washers, & locknuts bolt
the brush guard and front nose of the body to the stock body
mount location.

5. Securely tighten all bolts.

866-405-2537
www.jakesliftkits.com



